ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK, DB)\C - Drawings\TX-464043.dwg

POWERED Bvlg
il

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R - 85 2

The Steel Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general nofes
Door pane! details

Slidelte panel details {fip lite insert glazing)
Horizontal cross sections

Vertical cross sections

Vertical cross sections

Frame anchoring

NHON O B [ W IR

112.25" MAX. OVERALL

FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9187

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

[

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FlL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

REVISIONS

11/10/211UPDATE TO 2018 IBC/IRC CODE

(o) (o]

INSWING +45.0

-50.0

1

fu
<C
[
3
e
6

DATE: 10/27/1

OXO

OUTSWING +40.0

-40.0

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4643

sHEer 1 oF 7




e @?\x\:“l“b}} . ui
el b g1
i 18 " h’;ﬁ""‘; ‘?(3 b ; & 2 o 'N_

0.81 INTERIOR 3.3 0.81 ':}4 Gy etk g fon %-g @
S 12 £ 0 ni
T , gad i) £ 2 8
g7 v i oM B
? easasesasosass e 2o hriod i gB &

i 0202080202020 % " g b wt o Z g

9202020202020 %0 %0 % [ — T —] A fu: 5
2 2elelete2atet020 868! 2% V izt c § s g
: Seasessssnstasisasates: W, B L THE
920%a%e 20202002026 . 1S £23 &
* N B e Qe gegecececesesacececey ———— |\ U n b Z Lo 2 Zs¢ B
@ (X S o ) Zgzt{*:zzv 905%

* o' o
\ EXTERIOR / Ve TR
LOCK BLOCK 3 235
HINGE STILE (LVL) (WOOD: 185" (ONG)  ATCHSTIE (V1) P
& Bano <
/"1 "\ HORIZONTAL CROSS SECTION y S 3
2 c S
\2/ P
K

CERTIFICATE OF REGISTRATION # F—11852

1.75"
35.75" MAX.
PANELWIDTH TOP RAIL
lD (LvL) A
==
Liks
23 o s O
' :
T " e
. 7 3
\2/ v =l S%
24 GA. STEEL & x 8
DOOR SKIN g S
e B
o a
5
| 2%
ax
g Ly
Zz 1/ a
= 8
% (6]
3 INTERIOR EXTERIOR &
in o]
] S
i X iy o 2
& E.
o
FOAM CORE s
\ E
pe]
S
| S
NS
\/ " — i
BOTTOM RAIL — E?E - z
(WOOD) oA 10,/27/16
f SCAE  N.T.S.
DOOR PANEL —— T
LW CHK. av‘ LFS
Steel (Wood Edge] /"2 "\ VERTICAL CROSS SECTION e
DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS) \2/ » TX—4643

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

SHEET 2 OF _7

~ Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB)\C - Drawings\TX-4640.43.dwg

© zo16 R.W. BuIL.DING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-852 JELD-WEN Steel Opaque (LK, DB)\C - Drawings\TX-4640.43.dwg

~—0.81"

~— 1.75" —~]

\

STILE (LVL)

35.75"MAX. PANEL ___
WIDTH

D

/
l// =
/ .

P

95.25" MAX. PANEL HEIGHT

//
V4

S,

. SIDELITE PANEL
JELD-WEN

Steel (Wood Edge)

SIDELITE SKIN: 24 GA. STEEL {0.022" MIN. THICKNESS)
CORE MATERIAL: POLYSTYRENE FOAM

~U

EXTERIOR

0.81"

/4

g
o

INTERIOR

-
~

17

W /(1 171114120104711 14 1Y

/1 "\ HORIZONTAL CROSS SECTION

3/

21.13" MAX.
D.L.O. WIDTH

79.13"' MAX, D.L.O. HEIGHT

/

STILE {LVL)

#6X1-1/2

PPH SMS

INTERIOR

EXTERIOR

#6 X 1-1/2" PPH SMS

9.875" MAX
ON CENTER

|

6.5"
(TYP)

L_

i

ODL LITE FRAME

e —

GLASS BITE 1/2°

— 1/2" OVERALL GLASS THK.

L 1/8" TEMPERED GLASS

7/7!7!7/_'

i o . e

N

N

~

L

(]
NNW7/i006000010T)
C_ )

C :) GLAZING DETAIL

‘—- 1.75" -»1

i

E 1.38" —

\s

Q'SO SEALANT
LOW TACK SEALANT

AR SPACE

—»1 i-‘” 0.57"

‘ ODL LITE FRAME
HP Polypropylene

1/8" TEMPERED GLASS
TEEL SPACER

S Tint ut e
,5%%’ 13 f}; é’{g;eif ig )
’:f :‘» %IE "..",;-L(:»‘ Ee 0 o
PP i 90 flEs 8 BB
Fuied (00 ZIZEY YV |0u ¢B Gy
TOL PRiZis SSH o |ut 2y G
P, §O§P ] ] & l¢& RS g%
) Wk iai 9 8% §s$ 2,
—~— 175" —=] Y, S 2 5 - gxo 92
Ui N7 g g
Mandec™ Zow
TOP RAIL gn’ Bo
J & on- £B
(LVL) o o xé’ u.m
]
| 2 500 ok
. & 3568 fu
;._O: IS oo és
o g E
-]
Y]
L 8 g5
24 GA. STEEL 8
DOOR SKIN \
.
E
<N
B3
: Qo
< i
3 |48
< ol B
INTERIOR EXTERIOR 3 e
— = 2 %
I o 0.
/4 |
o
q 5o
Ly
[
[»]
O
[t ()
&
S o
B |Z
o
2 @
ol
FOAM CORE R
\ =
3
Q.
po)
=
¢ Sl
\——/ _ {g
] & =
BOTTOM RAIL /§QE - —lo
(WOOD) | — =
} OATE: 10,/27,/16
scae  N.T.S.
DWG. BY: JK
/ 2"\ VERTICAL CROSS SECTION P
w DRAWING NO.:
TX—4643

SHEET _3 OF /7

@ 20016 R.W., BUILDING CONSULTANTS INDC.



1]
oy
@ 1/4" MAX. %i 3 §§
SHIM SPACE £%*  p 22
SIDELITE PANEL JAMB EXT. SHEATHING Gu J5 g
b D w de Yo
EXTERIOR sg Bea 2,
! e e e e 3 8o 33
_————————— sk Sco 22
- o R mé
% oo g
[o ', ] v
N & oo oy
3 287 5.
/1) | ZramNG 5 35 2;
>=(, ® e B A 4
_ v J {G>=0.42) t max 8§
#8 X 2.5" COURSE THREAD 2 =
DRYWALL SCREW g @§ 33
] (See Note 1) / 8
/3 \lle - DEADBOLT: KWIKSET SIGNATURE SERIES | -
N4 e (980/985) N T
INTERIOR
— LATCH: KWIKSET SIGNATURE SERIES — 0.15"
(991) !~ CSINK DRYWALL % té)
(vP) #10X 2.5" PFH S 8
WOOD SCREW £ ol.. ES
2 2F R
Z Ols &0
) "1\ HORIZONTAL CROSS SECTION G2 83
b P N o CORNER PADS (TYP.) \U Outswing shown - Inswing also approved § @ TE
5 ©
5 73\ 1N <4> 2 c
NN A IRE:
075" —=——| 5] L%
Lt
g 4" HINGE 8
X #8 X 3/4" PFH SMS G DOOR PANEL LATCH STRIKE PLATE S
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS ﬁs-)
1M N\
SIDELITE PANEL —\ / [ #BX2:1/2'PFH WS 9 %
3 ] ol |5
0 w I \\ -| |
4 e O
_1 A& §
ENDURA WEATHERSTRIP “;s’ ‘N =
#8 X 2.5" COURSE THREAD / (QEBD 650) N
- DRYWALL SCREW DOOR PANEL SIDELITE PANEL E Lz
—— 125" |=— T 25 (See Note 1) #8 X 2.5 COURSE THREAD e
JAMB / HEAD FATBOY MULLION R e / J mS
PINE PINE ) DATE: 10/27/16
4-3/8" FATBOY PINE MULLION / ws NTS
| 4-3/8" FATBOY PINE MULLION Dwe. B:  JK
NOTE: CHK. BY: LFS
1. Spacing for sidelfe screws: 6.5 35.5", / 2\ HORIZONTAL CROSS SECTION {3\ HORIZONTAL CROSS SECTION ORANHG NG
57.25" and 85" from head to sill (4 total). W Outswing shown - Inswing also approved \U Outswing shown - Inswing also approved TX—4643
SHEET 4 oF 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK.DB)\C - Drawings\TX-4640.43.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-852 JELD-WEN Steel Opaque (LKDB)\C - Drawings\TX-4640.43.dwg

EXT. SHEATHING —\,

1/4" MAX.

] 2X FRAMING
< (G >=0.42)

N / DRYWALL

/ﬁ #10X 2.5 PFH
~“| WOOD SCREW
/ : " :

SHIMSPACE [

DOOR PANEL —\

0.15"
C'SINK
(TYP.)

yi

\— HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR

A\

INTERIOR

7“1\ VERTICAL CROSS SECTION

&/

Qutswing shown - inswing
also approved

AT
SR o
e ini Y
g Yt £ el
ol SO B
[ vd A“.’. [
L 0o
e B t% ORI
Hu.i iy
eflds Tt
g Ot 1Tl
L i 1zis
K}“}.'. %OE
5%, 101
?zx/&“.e 3 i et
4 -@:;"5%?
lh $d

=
b=
;1 -
“
'}:
£

: NOTE:
* Spacing for sidelite screws:
&" from each end (2 total).

2X FRAMING
(G >=0.42)

-
b Y

.

.

%

\ /——» EXT. SHEATHING

.

-

Wl #10X 25" PFH

DRYWALL \ £
N  WOOD SCREW

174" MAX. . {

SHIMSPACE ™~ |— il

\— HEAD

0.15"
C'SINK
(TYP.)

-

SIDELITE PANEL ——\

#8 X 2.5" COURSE THREAD
DRYWALL SCREW __
(SEE NOTE 1)
INTERIOR i EXTERIOR

m VERTICAL CROSS SECTION
w Inswing shown - Qutswing also approved

uj
N
£ 7]
Yo o
[ 0 bt )
£x & 4s
G, . F-
0y Ym 8
w Z N Gu
cg ‘dg L
o d
o %30' 2z
§ =T =
2 S50 bk
2>
%o"
. §3% o¥
& ©°%: §Q
oxz %
o zO
e Zme OY
2 255 8
?  3os ik
o 08
)
-
5 E
£ tu
1 &: (3]
Q
43
o
0
P
Q
G
L
115)
& 2
5 .
a Xl Q
= b X
i = ©
g <
g S
. =
= (14
S | &
o e >
el &
o o
©lx=
Yim

REVISIONS

11/10/21|UPDATE TO 2018 IBC/IRC CODE

1

oaTE: 10/27 /1

L
<€
[}
S
=
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—-4643

SHEET _ 5 oF _7_

© 2016 R.W. BUILDING CONSULTANTS INC.



—?r—~ 3 ENDURA ENDURA WEATHERSTRIP &:«:::‘ u,
ENDURA DOOR /( Fox i .
DOOR DOOR SWEEP o izt 8% 0
DOOR SWEEP PANEL N DOOR SIS 53 2o
DBK-ZAC #5t Aet o : H et ) i
PANEL | /( ) PANEL §§ iz 5;,? g
et IR ud 1
7V400000 b e
%% iz 4 pry 3>
(}‘&'o' o) S g 8e ZZ
AR LS c Etp Q0
L&, 18t > gg0 0k
‘?2(«5’ SZ 3 2>n E}g
INTERIOR EXTERIOR Wy i Zgob &0
PULRIJR > om
INTERIOR INTERIOR EXTERIOR AL RARG & Ooas FQ
T v Q%2 ,C
® % By Ok
. . . #]9, X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws: £ B g %
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW &' from each end (2 fotal) o § ofF
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW m VERTICAL CROSS SECTION . £ g E
£
m VERTICAL CROSS SECTION /2\ VERTICAL CROSS SECTION \6/ Oulswing Burmp Threshold 3 @ ©
w Inswing Adjustable Threshold W inswing Articulating Threshold SIDELTE - 77__ a
PANEL
SIDELITE \ y
PANEL ,
7 = ) 5 1)
#8 X 2.5" COURSE THREAD #8 X 2.5 COURSE THREAD —— £ %‘E)‘? S 3
DRYWALL SCREW TS DRYWALL SCREW G775 V/ 7 ‘ 5 25
(SEE NOTE 1) &\\\.\m‘_ (SEENOTE 1) 2 /é . S B E
INTERIOR memoa EXTERIOR M Z 3 . L‘>"§
Blg %
. L
3] g
2
#10 X 2.5" PFH WOOD SCREW OR a ,_
#10 X 2.5" PFH WOOD SCREW OR . " <] £
/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW & S
/4 "\ VERTICAL CROSS SECTION /5 "\ VERTICAL CROSS SECTION s
w inswing configuration ‘\6/ Outswing configuration
b P | P
- “’A =3 = i, - ,\t ;\!‘L..__.A = ==
- | W) - | l S o
o 456 ! 1 456 | ! 456 | 3 |z
ol 12
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 5 )INSWING ADJUSTABLE THRESHOLD S %
1 Faisses 2 )} AN IAILAA4565 TAIAA4565FN 7AI4565RDS N
o
‘ MAX. DESIGN PRESSURE = 40 PSF :
g
— - [ (& 1k -
. ! S | - - N
| 3 3 |
F 456" | b 456" | | 456" | [ 4.56'——=| f 456" | Sk
0
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 )INSWING ARTICULATING THRESHOLD 9 }INSWING ARTICULATING THRESHOLD 10} NSWING ARTICULATING THRESHOLD =
6 ) IACLasss 7 Jiacasesi ZACLAA4565 ZACAA4565FN ZAC4565RDS _ g
{ MAX. DESIGN PRESSURE = #35 PSF DATE: 10/27/16
; T r scae:  N.T.S.
= & S owe. B JK
- L - - cHk. B::  LFS
f ! 4.56" ! f o 4.56" —l DRAWING NO.:
OUTSWING THRESHOLD OUTSWING THRESHOLD OUTSWING THRESHOLD TX—4643
1 12 13
10BL4565 10B4545FN 1OB4565RDS e 6 o 7

Z:A\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-852 JELD-WEN Steel Opaque (LK,DB\C - Drawings\TX-4640.43.dwg

© 2016 R.W. BUILDING CONSULTANTE ING.



TOP OF

645" FROM
DOOR PANEL

S

84.81"

3/

——-‘
fed

32.56" —

58.69"

O
£aS)

HINGE JAMB

CONCRETE ANCHOR NOTES:

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

2X FRAMING (BY OTHERS)

o
(TYP.)

A

6"

= (mvp)

-

I

#10 X 2.5" PFH

WOOD SCREW

(TYP. @ HEAD
AND JAMBS)

N 1

\\*/I | FJ\I\—DEWL]

DETAIL 1

DETAIL 1 * /— DETAIL 1
W N

kY

i

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE {MIN. 3000 PS|)
WOOD (G >= 0.42)

£(TYP) —=] |=

4 (TYP) ——| M

FRAME ANCHORING
1) (0]

[~ 2[TYP.
¢ (TYP.)

* NOTE: These additional anchors are required for D.P. > 40 PSF.

1. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

ANCHOR:

MIN. CLEARANCE

TAPCON® 1-3/4" 1-1/2 4
DeWALT ) } i ,,
uLtRAconE|  V/ 1-3/4 1 4

#8 X 2-1/2" COURSE

THREAD

DRYWALL SCREW

i
,-,_x‘\}\'\\.xtti o 8
S xied £3 2
Sorhini g2, e
¢ LSO TS £ g uo
— "R Au gl 87
(TYP) hGE et gy G
3 3 H . o
I Wi fwd s$ L5 3
o4 3 3 § 8q ZZ
— 5, 3 c- f£im 20
3\9 , i > Hseo ok
~ YS! a>" Qé
é‘, .{' .“"h:: Z0 5
8 o . £§3%® ¢©
Ny i & o« EB
— T o xS LK
o & o 3 Zz 8 s O
= s Z ] 9 .c o°
o & & 592 gp
a2 & pod g g
- “0O % @ g 1] ™
o E E
:alie L\ 5 &
[a] 2 ul
3 0 ssx21/2pws | & B8
e} / 8
e | | [»]
-I—T 48X 1" PFH WS &5
i R Hlodl—= #8X3/4" PFH WS
"~ 4" X 4" HINGE
A\ 2
I &
4t seesiaie | : HINGE DETAIL 1 g |2
PLATE DETAIL i 3 |38
3 & o & (9=
4= ! e
o4 | #BX2-1/2'PFHWS | . <z
NO £ o
] [ P rd 3 ©
4 | o 8 E
i - I~ [i's <<
ekt #8X1 PFHWS & _=.'\5_ #8X3/4"PFHWS Q. 0.
#10 X 2.5" PFH WOOD SCREW "\\— 4'X 4" HINGE s
1/4" X 2-3/4" DeWALT OR \
ITW CONCRETE SCREW W
(TYP @ SILL) STRIKE JAMB HINGE DETAIL 2 S
[&)
[
S 0
@l |2
o
2 @
S B
o
o
S
o
D
=
- DEADBOLT SECURITY NE
STRIKE PLATE :
#10 X 3" PFH WS == -2
oATE: 10/27,/16
#8 X 2-1/2" PFH WS —== P scae  N.T.S.
DETAIL 1 _ PLATE bwe. v JK
Integral mullion attachment chk. B:  LFS
STRIKE PLATE DETAIL DRAWING NO.:
TX—4643

SHEET _7 oF _7

~ Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque {LK,DB\C - Drawings\TX-4640.43.dwg

@ 2016 R.W. BUILDING CONSLULTANTS INC.



